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Like whom; like >'' — 51777 9292 N2

OVERVIEW

The X713 relates that 7211 27 replied to 72¥ 27 that if you intend to acquire the
annexed property with an immediate 711 according to the view of "9, etc., you
should be aware that the 71277 is not like them. This seemingly indicates that ¥"
supposedly follows the view of *"7, however M501n points out that this seemingly

contradicts another statement made by y"A.

mooIn asks:
— (3,n59m DY 1Y 29 9INNT ONYAN 12 Pyunv 19%24Y nup

The R''2w1 has a difficulty, from ' stated previously -
— 91999 91219 P91 PRY DY 2392 INNN INNY 1T 19399 Y9 NN 711

‘I heard explicitly from the master »x12w that a protest made in the presence

of witnesses that cannot convey the 7Xn» to the p°11n, etc. is not a valid nxnn’ -
— 30115 53493 897119990 2NN 1393 Hya NYT ynwn

indicating that Y"1 maintains that there is no requirement for a 9193 7R,
which is not like the view of >"'1.*

MDOIN answers:

INTNA 1D N9 TN P9I 920 NI
And perhaps v" agrees with >"1 in one ruling that 7Pt 77 In9KX% 17192, but he
argues with him in the other 7557 and maintains 7872 *17 1193 XYW ARAR.

SUMMARY
y"1 agrees with "1 that 7Pt "7 ONPKRY vIdA Ui, but disagrees with him and
maintains that 7877 *17 17392 XYW IRAN.

" The n"271 M amends this to read 127/ 1192 a8MM 22,
* Hxmw there distinguishes between making the 07y 192 7xmn who can tell the trn and 2°7v who cannot tell the
P°11; in any event it is apparent that the 7¥7¥» need not make the P17 192 ARMA.
35" maintains that a 7%1? must be made PTAn *193; see PR 17 2,12 'on. See ‘Thinking it over’.
* The difficulty is that on one hand ¥"7 maintains that 7Xma X7 1392 KW 7xn» and argues with *"3; however in our
X713 it seems that ¥"1 wanted to make a 7P based on the ruling of *"1 that 7P 7 IN2X? 1192, [The X"awM is of the
opinion that these two laws of 1192 Xow 78mn and 1°192 7P are intertwined; if one maintains 7P "7 INPX? 1°192, he
will also maintain 7Rn7A "7 X2 17192 XOw 807, (This is because both laws of *"1 are derived from the same ruling in
our Wwn where *"7 states XD0X2 121 KYR 0% A 1MKR RS (which means that if he is closer the ;P17 can even be
immediately) nanx m1w? 821 (from which we derive that a 7Xn» must be 1192).]
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THINKING IT OVER

mMooIn writes that *" maintains AXAM M7 XY 17192 ®ow R, However previously
(on X,u7) the same 1" (who said to v"9 that >"12 1812) maintains that > is also of
the opinion that xRz X171 1°392 KW 7%m» and it is merely "ap 721 mxy!°

3 See footnote # 3.
% See (X"wm?) XN RATIAN.
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